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Cluster: 0031 ptr; resid: 0.36; r/c: 52/55

x.range

upstream meme PSSM #1; e=0.0019

1 3 5 7 9 11 131 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=4.6e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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32160

32535
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35623
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39888 4129

42002
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43530

43646

43742

44684

45059

45314

45321

4532545414

45626

45992
46313

46526

46692

46877

47057

48400

49258

50257

52108

6052

8859

−500 −400 −300 −200 −100 −1
13789−0.02 46692−0.03 48400−0.12 8859−0.14 15140−0.20 4129−0.21 13004−0.25 32535−0.25 45414−0.31 52108−0.33 47057−0.37 12379−0.38 12612−0.46 46526−0.47 42816−0.48 44684−0.55 22145−0.62 17928−0.71 13208−0.80 50257−1.05 14962−1.05 39888−1.10 45314−1.11 43742−1.18 12329−1.33 42002−1.39 34975−1.56 46313−1.64 33013−1.77 45059−1.88 49258−1.94 43098−2.05 45992−2.08 34534−2.14 17166−2.19 43530−2.40 15145−2.47 45325−2.74 42822−2.96 36102−3.02 19513−3.30 32160−3.34 45626−3.59 46877−3.63 35623−3.73 45321−3.82 42466−3.83 33014−3.83 43646−4.01 2782−4.77 6052−4.88 43224−6.28

log10(P) upstream meme1 2 log10(P.clust)=−1.82; 52 seqs; 52 uniq
c(0.5, 2.5)
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